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1. At what prices do you bve a sﬁeglus? What about a shortage?
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2. Whatis the equmbnu prlce and quantlty?
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' 3 Why is the equuhbrlum prlce the perfect price for pep5|
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4. |If curve A become curve B at has happened?
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5. What are three reasons why there was a change in quantity even though the price of
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6. After curve A shifted and became curve B what happened to price?
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7. If curve A becomes curve B'what has happened? :
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8. What are three reasons why there was a change in qUantity even though the brice of
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9. Aftercurve A shifted and became:curve B what happgned to price?
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